MULTIPLE MODULES

MULLION SPAN

MULLION

SPAN

HORIZONTAL
MULLION

ANDERSEN CORP.
WINDOW,/DOOR
SEE SEPARATE

ANDERSEN" CORP.
ND

HORIZONTAL
MULLION

VERTICAL
MULL!O&/

2/

WINDOW

SEE SEPARATE
APPROVAL
VERTICAL
MULLION
Vs s
s/ 7/
//, //,
S S
7, s,
ANDERSEN CORP. ANDERSEN CORP.
WINDOW /DOOR WINDOW/DOOR
SEE SEPARATE SEE SEPARATE
APPROVAL APPROVAL

HURRICANE ZONE (HVHZ).

ALL GLAZING PRODUCTS USED WITH THESE MULLIONS MUST MEET THE
APPLICABLE BUILDING CODE REQUIREMENTS I.E: WIND LOAD, WATER
INFILTRATION, FORCED ENTRY RESISTANCE, SAFEGUARDS ETC.

WOOD BUCKS BY OTHERS, MUST BE ANCHORED PROPERLY TO TRANSFER
LOADS TO THE STRUCTURE.

ANCHORS SHALL BE AS LISTED, SPACED AS SHOWN ON DETAILS, EMBEDMENT
TO BASE MATERIAL SHALL BE BEYOND WALL COVERING (STUCCO, TILE ETC.).

ANCHORING CONDITIONS OTHER THAN THOSE SHOWN (N THESE DETAILS
ARE NOT PART OF THIS APPROVAL.

A LOAD DURATION INCREASE IS USED IN DESIGN OF ANCHORS INTO WOOD ONLY.

MATERIALS INCLUDING BUT NOT LIMITED TO STEEL/METAL SCREWS, THAT
COME INTO CONTACT WITH OTHER DISSIMILAR MATERIALS SHALL MEET THE
REQUIREMENTS OF THE FLORIDA BUILDING CODE.

MANUFACTURER'S LABEL SHALL BE LOCATED ON A READILY VISIBLE LOCATION
IN ACCORDANCE WITH SECTION 1710.8.3 OF FLORIDA BUILDING CODE.
LABELING TO COMPLY WITH SECTION 1710.8.2.

MULLION SPAN

HORIZONTAL

/
S/EgN }gg’%ms

APPROVAL

MULLION \
AND§R§EN CORP.

l‘ACCEPTABLE
P ANDERSNEE;\J CORP. ANDER}SNEN CORP.
s WINDOW WIRDOW
MULTIPLE MODULES v/ SEE SEPARATE SEE SEPARATE
ACCEPTABLE e APPROVAL APPROVAL
Vs S S
// // //
VERTICAL
MULLION -
VERTICAL é
MULLION 73]
pd
S
e j
/o /o J v /o v 2
7/ 7/ s/ % - 7z ‘7 7/
««‘-‘-L),.// /// //./ =% //’ ///1 /
S P Vs 5' % - S S
7 [0 7 s = ‘s [ ‘,
ANDERSEN CORP. ANDERSEN CORP. ANDERSEN CORP. ANDERSEN CORP.
WINDOW/DOOR WINDOW/DOOR WlNDOW/DOOR WINDOW/DOOR
SEE SEPARATE SEE SEPARATE SEE SEPARATE SEE SEPARATE
APPROVAL APPROVAL APPROVAL APPROVAL
MULLION SYSTEM IS RATED FOR LARGE & SMALL MISSILE IMPACT.
AND CAN BE USED WITH ALL F.B.C. APPROVED
IMPACT AND NON—IMPACT RESISTANT PRODUCTS. IYPICAL MULLION ARRANGEMENT
LAMINATED VENEERED LUMBER (LVL) MULLION SYSTEM INDEX OF DRAWING
WINDOW FRAME MEMBERS INCLUDED IN PROPERTIES SHEET NO. DESCRIPTION
DESIGN LOAD RATING FOR THIS MULLION TO BE AS PER CHARTS ; fﬁ‘gg@'}giﬁs SETALS
SHOWN ON SHEETS 5 AND 6. 5 DOOR FRAME BETALS
APPROVAL APPLIES TO MULLIONS COMBINATIONS WITH FRAME MEMBERS OF 4 MULLION DETAILS
ANDERSEN CORPORATION WINDOW AND DOORS IN ANY COMBINATIONS 5 CHART FOR 4-9/16" & 6-9/16” MULLIONS WITHOUT HORIZONTALS
SEE SHEET 2 FOR WINDOW FRAME MEMBER DETAILS. 6 CHART FOR 4-9/16" & 6—9/16" MULLIONS WITH HORIZONTALS
SEE SHEET 3 FOR DOOR FRAME MEMBER DETALS. 7 THRU 10| DETAILS SHOWS VERTICAL AND HORIZONTAL MULLION CONNECTION
SEE SEPARATE APPROVAL FOR WINDOW/DOOR ANCHORS AND DESIGN LOAD CAPACITY. WITH FRAME MEMBERS.
11 HORIZ./VERT. MULLION CONNECTION DETAILS WITH BRACKET
LOWEST VALUE RESULTING FROM MULLION, WINDOW OR DOOR APPROVAL 12 HORIZ./VERT. MULLION CONNECTION DETAILS WITH GUSSET PLATE
WILL APPLY TO ENTIRE SYSTEM. 13 VERT. MULLION CONNECTION DETAIL TO HORIZ. MULLION
THIS PRODUCT HAS BEEN DESIGNED AND TESTED TO COMPLY WITH THE
REQUIREMENTS OF THE FLORIDA BUILDING CODE INCLUDING HIGH VELOCITY INSTRUCTIONS:

USE DRAWING AS FOLLOWS.

1. DETERMINE THE PRESSURE (LOAD) REQUIREMENTS FOR

THE INSTALLATION USING ASCE 7 FOR THE OPENING.
2. DEPENDING ON THE ‘TYPICAL MULLION ARRANGEMENT' ON
, SELECT THE MULLION SPAN, TRIBUTARY WIDTH (W)
AND MULLION SIZE 4-9/16" OR 6-9/16".

3. DEPENDING ON THE WINDOWS ARRANGEMENT AND SIZE OF
MULLION,

4, USING SHEETS 5 AND 6 DETERMINE THE DESIGN PRESSURE
RATING, THE MULLION SELECTED MUST MEET OR EXCEED THE
PRESSURE (LOAD) REQUIRED IN STEP 1.

5. USING SHEETS 7, 8, 9 AND 10 DETERMINE THE WINDOW
TO MULLION ANCHOR.

6. USING SHEETS 11 AND 12, DETERMINE THE MULLION TO
SUBSTRATE ANCHORS.

7. USING SHEET 13, DETERMINE MULLION TO MULLION ANCHORS.

SHEET 1

USING SHEETS 7 TO 10, SELECT THE GROUP NUMBER.

IS GENERIC AND DOES NOT PROVIDE INFORMATION FOR A SITE SPECIFIC
PROJECT; i.e. WHERE THE SITE CONDITIONS DEVIATE FROM THE P.E.D.

B—- CONTRACTOR TO BE RESPONSIBLE FOR THE SELECTION, PURCHASE AND
INSTALLATION OF THIS PRODUCT BASED ON THIS PRODUCT EVALUATION
PROVIDED HE/SHE DOES NOT DEVIATE FROM THE CONDITIONS DETAILED
ON THIS DOCUMENT.

C—THIS PRODUCT EVALUATION DOCUMENT WILL BE CONSIDERED INVALID IF
ALTERED BY ANY MEANS.

D— SITE SPECIFIC PROJECTS SHALL BE PREPARED BY A FLORIDA REGISTERED
ENGINEER OR ARCHITECT WHICH WiLL BECOME THE ENGINEER OF RECORD (E.O.R.)
FOR THE PROJECT AND WHO WILL BE RESPONSIBLE FOR THE PROPER
USE OF THE P.E.D. ENGINEER OF RECORD, ACTING AS A DELEGATED
ENGINEER TO THE P.E.D. ENGINEER SHALL SUBMIT TO THIS LATTER THE SITE
SPECIFIC DRAWINGS FOR REVIEW.

E— THIS P.E.D. SHALL BEAR THE DATE AND ORIGINAL SEAL AND SIGNATURE OF
THE PROFESSIONAL ENGINEER OF RECORD THAT PREPARED IT.

=T VERTICAL VERTICAL

MULLION MULLION

Ve /s Vo

s % o

./ //, ///

S S S

// /J/ //

ANDERSEN CORP. ANDERSEN CORP. ANDERSEN CORP.
WINDOW /DOOR WINDOW/DOOR WINDOW/DOOR
SEE SEPARATE SEE SEPARATE SEE SEPARATE
APPROVAL APPROVAL APPROVAL
A— THIS PRODUCT EVALUATION DOCUMENT (P.E.D.) PREPARED BY THIS ENGINEER FL #1 7720

s |
f
_C
—01AC)

FAX. (305) 262-6978
MULLION\M15

AL-FAROOQ CORPORATION

ENGINEERS & PRODUCT DEVELOPMENT

1235 S.W. 87 AVE
MIAMI, FLORIDA 33174

TEL. (305) 264-8100

Ti

BAYPORT, MN. 55003-1096
FAX (=)

TEL. (80O) 426-7691

100 FOURTH AVE. NORTH

i

®

anoersen]| ANDERSEN CORPORATION

[LAMINATED VENEERED LUMBER MULLION SYSTEM}

|

)

by [description

(revisions:

H

&

5 )
o)
J
)

dr. by: HAMID

hk. by:

sheet 1 of13)




]

4.125
2.250 ‘J{ I-*.QGQ%

3.334 !
<F"1.1‘15">’ r*1.375~{

3.334 {
<—1.115«=-{ [A‘1.375—@£

{.658 2.942

-
1.355

569 !
T 1.359 (l:, U g '6456 esﬁs 811 i
i i '9 p 438 [ L
|
1 5 344 2.771 . 2.771 | 4.125
CASEMENT AWNING TILT-WASH DOUBLE HUNG WOODWRIGHT DOUBLE HUNG SPECIALITY DIRECT SET (CTC & CTQC)
FRAME HEAD/SILL FRAME JAMB FRAME HEAD FRAME HEAD/JAMB FRAME SILL
30835 30836 — - 27230
WOOoD WOooD WOoOoD WwooD WOOoD
4.125 | 3.196 |
v; ,J - 812
2.250 | .989 872
-1.115 1.375
L T IS a7 ol -
406 ! | f T
] 1.109 -656
1 1.500
S
o] m A 750
B44 2.344 I i
3.352
CASEMENT AWNING TILT-WASH DOUBLE HUNG TILT-WASH FIXED WOODWRIGHT FIXED SPECIALITY DIRECT SET (CTN)
FRAME JAMB FRAME HEAD/SILL FRAME JAMB FRAME HEAD/SILL /JAMB FRAME HEAD/SILL /JAMB FRAME SILL
30838 30838 - - 27122
WOoOoD WOo0oD WOOoD WOO0D WOOD
| 3.727 |
i 2.942 966
3.797 r 4,} 1.08001
I | ? 1.360 1.204 1.391 T 1.425
719 811 793 705
i n | o L 6 1
3.844 . 2.500 4.007
4125 |
PSNL CASEMENT PICTURE FLEXIFRAME FIXED SPECIALITY DIRECT SET (ET)

FRAME HEAD/SILL/JAMB

wOooD

FRAME HEAD/SILL/JAMB

WOOD

; 2.939

FRAME HEAD/SILL/JAMB

WOOD

FRAME SILL

53103
WOOD

? 1.336
.74]97

4.121 {

CASEMENT PICTURE (P)

FRAME HEAD/SILL/JAMB

30394
WOO0D

a
f
C
MULLION\M15-01AC )

FAX. (305) 262-6978

AL-FAROOQ CORPORATION
ENGINEERS & PRODUCT DEVELOPMENT
MIAMI, FLORIDA 33174

1235 S.\W. 87 AVE
TEL. (305) 264-8100

Ul

FAX (=)

(800) 426-7691

ANDERSEN CORPORATION |

100 FOURTH AVE. NORTH
BAYPORT, MN. 55003-1096

| TEL.

\

%

[LAMINATED VENEERED LUMBER MULLION SYSTEM)
d

|

ANDERSEN

)

by [description

N(revisions:
o[ date

)
J
J
Bl

04-28-15

by:

(¢
o
(=
g

r. by: HAMID

ate:
chk.

drawing no.




5.794

i

|

2.655

~ L

4.193

I‘ 2.655

SR\

4——_—{/—15

i

673

.

3.979

FWH

HINGED HEAD/JAMB COVER (OPERATING/STATIONARY)

52225

FIBERGLASS

.062

LI e [] ? —
929 1.230 -988 ~NL ]
‘L ’_I J— >_/'—‘—“—\__J_I $ 1.185 1v0$16
445 2.693 4.224 ""—_””"Jj‘““‘“’F
2.331 |
FWG FWH FWO
GLIDING DOOR_FRAME HEAD HINGED DOOR HEAD/JAMB (OPERATING/STATIONARY) OUTSWING DOOR HEAD/JAMB (OPERATING/STATIONARY)
- 52253 57019
WOOD WOOD WoOoD
f——1.629 2.087
f e V)
567 L | ey
.080 1.197
1.359 ~055J

? J
[o——1.564 —=t=—1.349

FWO

OUTSWING HEAD/JAMB COVER (OPERATING/STATIONARY)

57031
FIBERGLASS

LR,

f
C

MULLION\M15—01AC )

[ a

AL-FAROOQ CORPORATION
FAX. (305) 262-6978

ENGINEERS & PRODUCT DEVELOPMENT

1235 S.\W. 87 AVE
MIAMI, FLORIDA 33174

TEL. (305) 264-8100

100 FOURTH AVE. NORTH
BAYPORT, MN. 55003-1096

1

snoersen) ANDERSEN CORPORATION

LAMINATED VENEERED LUMBER MULLION SYSTEM

FAX (=)

;
|
|

|

| TEL. (800) 426-7691

)

by [description

(revisions:
(no] date

.




.558 [ .750

5.275
2.735 E

; 2.540

4-9/16" MULLION

LAMINATED VENEERED LUMBER

~*>! 906 F=—

MULLION COVER

ALUMINUM

7.250
2.735 ]
é . @
.558 { 750
. i
* |
} 4.515
6—9/16" MULLION
LAMINATED VENEERED LUMBER
3.196
|
.680 .750 1.140
o«

2
‘hu E
5.275 |
"
=
— 9 z Elg
(]
626 750 O e
r i b= P =
q 2 als
#s 8
‘ 4.210 3 3
(/W %
» £ o w
4-9/16" MULLION 0o B
29353 og I~
LAMINATED VENEERED LUMBER a 2
11
o'n:>2 8
©ox g4
O*gag
i m g 'o N
7.250 < WST g
W .
%1.065»1 ul_ z?;g 8,
L, m O M << i
} 20 @
.626 750 < W2 - L
-
— g —
=
E 6.185 J & (23
LiI=
hiE o
<< TS
ZIXE -
” iox |14
6—-9/16" MULLION =i % M
29434 2l 8%
LAMINATED VENEERED LUMBER Ouw’
o' O > w0
] =3 -
2Tz
o e Z T ~
1.454 3 i EZ = é
060 o) & 3k =
9 HW-98
.980 0o &
750 z = 9>
(@]
) ! g Z25E
=By —
~—1.514 =l e
. J 5 ¢
= a
MULLION COVER el 4
S —
29351 = )
ALUMINUM [
o—1.544
460 c
] — :
[~
Ql
750 g 1.210 S
B = g
‘OGOj L ©
)
MULLION COVER glle
29351 ‘o
ALUMINUM S
gE
N J
|G
RTINS
ol
Tl
© [] Il =} M
N = ]‘ =
+ 8 F
ol Ii ‘! .
U LR B -
s BB
s 0«
IS DIEPIE
drawing no

J'Sheet 4 of 13)




DESIGN LOAD CAPACITY — PSF

4-9/16" MULLION

WINDOW DIMS.

W/0 INTERMEDIATE HORIZONTALS

GROUP | GROUP | GROUP | GROUP

DESIGN LOAD CAPACITY - PSF

6-9/16" MULLION

DESIGN LOAD CAPACITY - PSF

6-9/16" MULLION

=z
<
o
E /s w
’// ‘//
7 7 S
g z 5
_1
e}
=
Wi W2
4
¥
2
“ouLy =
“sh o
MULLION SPAN
W1 +
WIDTH (W) = ———2W—2~

WIDTH (W) [MULL SPAN| #1 #2 #3 #4
30" 70.0 70.0 70.0 70.0
36" 70.0 70.0 70.0 70.0
42" 70.0 70.0 70.0 70.0
48" 70.0 70.0 70.0 70.0

51-3/8" 48" 70.0 70.0 70.0 70.0
54" 70.0 70.0 70.0 70.0
60" 70.0 70.0 70.0 70.0
66" 70.0 70.0 70.0 70.0
72" 70.0 70.0 70.0 70.0
30" 70.0 70.0 70.0 70.0
36" 70.0 70.0 70.0 70.0
42" 70.0 70.0 70.0 70.0
48” 70.0 70.0 70.0 70.0

51-3/8" 54" 70.0 70.0 70.0 70.0
54" 70.0 70.0 70.0 70.0
60" 68.0 68.0 68.0 68.0
66" 61.8 61.8 61.8 61.8
72" 56.7 56.7 56.7 56.7
30" 70.0 70.0 70.0 70.0
36" 70.0 70.0 70.0 70.0
42" 70.0 70.0 70.0 70.0
48" 70.0 70.0 70.0 70.0

51-3/8" 60" 65.0 65.0 65.0 65.0
54” 61.5 61.5 61.5 61.5
60" 55.1 55.1 55.1 55.1
66" 50.1 50.1 50.1 50.1
72" 45.9 45.9 45.9 45.9
30" 70.0 70.0 70.0 70.0
36" 67.4 70.0 70.0 70.0
42" 60.1 68.2 68.2 68.2
48" 66" 55.3 58.6 58.6 58.6

51-3/8" 53.4 54.2 54.2 54,2
54" 51.3 51.3 51.3 51.3
60" 45.7 45.7 45.7 45.7
30" 65.0 70.0 70.0 70.0
36" 55.6 63.3 69.4 69.4
42" 49.3 56.1 58.1 58.1
48" 72" 44.9 49.8 49.8 49.8

51-3/8" 43.1 46.1 46.1 46.1
54" 41.9 43.6 43.6 43.6
60" 38.7 38.7 38.7 38.7
30" 54.9 62.5 70.0 70.0
36" 46.8 53.2 59.9 59.9
42" _ 41.2 46.9 50.1 50.1
48" 37.3 42.5 43.0 43.0

51-3/8" 35.6 39.7 39.7 39.7
54" 345 37.5 375 37.5
30" 47.0 53.5 64.2 64.2
36” 39.9 45.4 52.2 52.2
42" 84" 35.0 39.9 43.7 43.7
48" 31.5 35.9 37.5 37.5

51-3/8" 30.0 34.1 34.6 34.6

W/0 INTERMEDIATE HORIZONTALS W/0 INTERMEDIATE HORIZONTALS
WINDOW DIMS. | GROUP | GROUP | GROUP | GROUP | GROUP WINDOW DIMS. | GROUP | GROUP | GROUP | GROUP | GROUP
WIDTH (W) |[MULL SPAN| #5 #6 #7 #8 #9 WIDTH (W) |MULL SPAN| #5 #6 #7 #8 #9
24" 700 | 70.0 | 700 | 700 | 70.0 24" 66.9 | 700 | 700 | 70.0 | 70.0
30" 700 | 70.0 | 7000 | 700 | 70.0 30" 541 | 61.9 | 62.6 | 62.6 | 62.6
36" 700 | 70.0 | 700 | 70.0 | 70.0 36" 102" 456 | 51.0 | 51.0 | 51.0 | 51.0
40" 700 | 700 | 700 | 700 | 700 40" 415 | 452 | 452 | 452 | 452
42" 60" 700 | 700 | 70.0 | 700 | 70.0 42" 39.7 | 428 | 428 | 428 | 42.8
48" 700 | 700 | 700 | 700 | 70.0 24" 59.6 | 68.2 | 70.0 | 70.0 | 70.0
54" 700 | 700 | 700 | 700 | 700 30" - 481 | 550 | 562 | 562 | 56.2
60" 700 | 700 | 700 | 700 | 70.0 36" 405 | 458 | 458 | 458 | 458
66" 640 | 640 | 640 | 640 | 640 40" 36.8 | 407 | 407 | 40.7 | 40.7
72" 587 | 587 | 58.7 | 58.7 | 587
24" 700 | 70.0 | 70.0 | 700 | 70.0
30" 700 | 70.0 | 700 | 700 | 70.0
36" 700 | 700 | 700 | 700 | 70.0
40" 66" 700 | 700 | 700 | 700 | 700
42" 700 | 700 | 7000 | 700 | 700
48" 700 | 700 | 700 | 700 | 700
54" 700 | 700 | 700 | 700 | 70.0
60" 642 | 642 | 642 | 642 | 642
24" 700 | 700 | 700 | 70.0 | 70.0
30" 700 | 700 | 700 | 700 | 70.0
36" 700 | 700 | 70,0 | 700 | 70.0
40" - 700 | 700 | 700 | 700 | 700
42" 700 | 700 | 700 | 700 | 70.0
48" 69.9 | 69.9 | 69.9 | 69.9 | 69.9
54" 61.1 61.1 61.1 61.1 61.1
60" 543 | 54.3 | 543 | 543 | 543
24" 700 | 70.0 | 70.0 | 700 | 70.0
30" 700 | 700 | 700 | 700 | 700
36" 700 | 700 | 700 | 700 | 70.0
40" 78" 70.0 70.0 70.0 70.0 70.0
42" 700 | 700 | 700 | 700 | 700
48" 60.3 | 60.3 | 60.3 | 60.3 | 60.3
54" 526 | 52.6 | 52.6 | 52.6 | 52.6
24" 700 | 700 | 700 | 700 | 70.0
30" 70.0 | 700 | 700 | 700 | 70.0
36" § 68.6 | 70.0 | 70.0 | 700 | 70.0
40" 84 62.7 | 649 | 649 | 649 | 649
42" 60.2 | 61.3 | 61.3 | 61.3 | 61.3
48" 526 | 52.6 | 52.6 | 52.6 | 52.6
24" 700 | 700 | 70.0 | 700 | 70.0
30" 700 | 700 | 700 | 700 | 700
36" i 59.3 | 64.4 | 64.4 | 64.4 | 64.4
40" % 54.1 57.1 57.1 57.1 57.1
42" 519 | 54.0 | 540 | 540 | 540
48" 463 | 463 | 46.3 | 463 | 46.3
24" 700 | 70.0 | 70,0 | 700 | 70.0
30" 61.2 | 700 | 70.0 | 700 | 700 ;
36" - 51.8 | 57.1 57.1 571 | 57.1 :
40" 47.1 | 50.6 | 506 | 50.6 | 50.6 3 ,1‘
42" 45.2 47.9 47.9 47.9 47.9 O, sloF .
45" 422 | 447 | 447 | 447 | 447 . g’ﬁegﬂph‘é' §§
FL #17720 < ONAL B

)

(revisions:

)
)

.

MULLION\M15-01AC )

FAX. (305) 262-6978

AL-FAROOQ CORPORATION
ENGINEERS & PRODUCT DEVELOPMENT
1235 S.W. 87 AVE

MIAMI, FLORIDA 33174

TEL. (305) 264-8100

|

ANDERSEN CORPORATION

100 FOURTH AVE. NORTH

BAYPORT, MN. 55003-1096
FAX (=)

TEL. (800) 426-7691

|

{LAM!NATED VENEERED LUMBER MULLION SYSTEMJ

|

ANDERSE;}
®[

byTdescription

(o[ date

|

/01/15.16:1

sheet 5 of 13




DESIGN LOAD CAPACITY - PSF

4-9/16” MULLION

/s e
7/ 7/
7. 7
7 7

I
NN

7

RN

MULLION SPAN

Wi

W2

MULLION SPAN

WITH INTERMEDIATE HORIZONTALS
WINDOW DIMS. | GRoUP | GROUP | GROUP | GROUP
WIDTH (W) [MULL SPAN| #1 #2 #3 #4
30" 70.0 70.0 70.0 70.0
36" 700 | 700 | 700 | 70.0
42" 700 | 700 | 700 | 700
48" 700 | 700 | 700 | 700
51-3/8" 48" 700 | 700 | 700 | 700
54" 700 | 700 | 700 | 700
60” 69.0 | 700 | 700 | 70.0
66" 62.7 | 700 | 700 | 70.0
72" 575 | 65.4 | 700 | 70.0
30" 700 | 70.0 | 700 | 70.0
36" 700 | 700 | 700 | 700
42" 700 | 700 | 700 | 700
48" 68.1 | 700 | 700 | 700
51-3/8" 54" 63.7 | 700 | 700 | 70.0
54 60.6 | 689 | 700 | 70.0
60" 545 | 620 | 700 | 700
66" 496 | 56.4 | 700 | 70.0
72" 454 | 517 | 648 | 652
30" 700 | 700 | 700 | 700
36" 700 | 700 | 700 | 70.0
42" 63.1 | 700 | 700 | 70.0
48" 552 | 62.8 | 70.0 | 70.0
51-3/8" 60 516 | 587 | 70.0 | 70.0
54" 49.1 | 558 | 700 | 700
60” 442 | 503 | 630 | 700
66" 40.1 | 457 | 572 | 640
72" 368 | 41.9 | 525 | 587
30" 700 | 700 | 700 | 70.0
36" 60.8 | 69.2 | 70.0 | 70.0
42" 521 | 59.3 | 700 | 700
48" 66" 456 | 51.9 | 650 | 70.0
51-3/8" 426 | 485 | 60.8 | 70.0
54" 405 | 462 | 578 | 67.5
60" 365 | 415 | 520 | 60.7
30" 61.3 | 69.8 | 700 | 70.0
36" 51.1 | 582 | 700 | 70.0
42" 43.8 | 49.9 | 625 | 70.0
48" 72" 38.3 | 436 | 547 | 63.8
51-3/8" 358 | 40.8 | 51.1 | 59.6
54” 341 | 388 | 486 | 56.7
60" 307 | 349 | 437 | s1.0
30" 523 | 59.5 | 700 | 70.0
36" 435 | 496 | 621 | 70.0
42" _, 373 | 425 | 532 | 62.1
48" 327 | 372 | 466 | 54.3
51-3/8" 305 | 347 | 435 | 508
54" 290 | 330 | 41.4 | 483
30" 45.1 | 51.3 | 643 | 70.0
36" 375 | 427 | 535 | 606
42" 84" 322 | 366 | 459 | 51.9
48" 28.2 | 321 | 402 | 454
51-3/8" 263 | 299 | 375 | 424

a
f
C

o 7 Z
Z 7 Z N
v i3 [ ;
A
1]
A ﬂﬂ e
154 lm g =
w004 Lo o
e W 77 =
MULLION SPAN
W1+ W2
WIDTH (W) = 5

DESIGN LOAD CAPACITY — PSF DESIGN LOAD CAPACITY — PSF
6-9/16" MULLION 6-9/16" MULLION
WITH INTERMEDIATE HORIZONTALS WITH INTERMEDIATE HORIZONTALS

WINDOW DIMS. | GRoUP | GROUP | GROUP | GROUP | GROUP WINDOW DIMS. | GRrouP | GROUP | GROUP | GROUP | GROUP

WIDTH (W) |[MULL SPAN| #5 #6 #7 #8 #9 WIDTH (W) |MULL SPAN| #5 #6 #7 #8 #9

24" 700 | 7000 | 700 | 700 | 70.0 24" 657 | 700 | 700 | 700 | 70.0

30" 700 | 700 | 700 | 700 | 70.0 30” 525 | 60.1 | 66.3 | 70.0 | 70.0

36" 700 | 700 | 700 | 700 | 700 36" 102" 438 | 50.1 | 552 | 59.4 | 59.4

40" 700 | 700 | 700 | 700 | 70.0 40" 39.4 | 451 | 497 | 535 | 535

42" 60" 700 | 7000 | 700 | 700 | 700 42" 375 | 429 | 473 | so9 | 509

48" 700 | 700 | 700 | 700 | 700 24” 586 | 67.0 | 70.0 | 70.0 | 70.0

54” 700 | 700 | 700 | 700 | 700 30" i 468 | 536 | 59.1 | 625 | 62.5

60 700 | 700 | 700 | 700 | 700 36" 108 39.0 | 447 | 493 | 521 52.1

66" 640 | 640 | 640 | 640 | 64.0 40” 351 | 402 | 443 | 469 | 46.9
72" 58.7 - - - -
24" 700 | 7000 | 700 | 700 | 70.0
30" 700 | 7000 | 700 | 700 | 700
36" 700 | 700 | 700 | 700 | 700
40" 66" 700 | 700 | 700 | 700 | 700
42" 700 | 700 | 700 | 700 | 70.0
48" 700 | 700 | 700 | 700 | 700
54" 69.7 | 700 | 700 | 700 | 70.0
60" 62.7 | 640 | 640 | 640 | 64.0
24" 700 | 700 | 700 | 700 | 70.0
30" 700 | 70,0 | 700 | 700 | 70.0
36" 700 | 700 | 700 | 700 | 700
40" _ 700 | 700 | 700 | 700 | 700
42" 700 | 70.0 | 700 | 700 | 70.0
48" 659 | 700 | 700 | 700 | 70.0
54" 586 | 652 | 652 | 652 | 652
60" 527 | 587 | s87 - —
24" 700 | 70.0 | 700 | 700 | 70.0
30" 700 | 7000 | 700 | 700 | 700
36" ' 700 | 700 | 700 | 700 | 700
40" 78" 67.4 70.0 70.0 70.0 70.0
42" 642 | 70.0 | 700 | 700 | 70.0
48" s6.1 | 64.3 | 677 | 67.7 | 67.7
54" 499 | 571 | 602 - -
24" 700 | 70.0 | 700 | 700 | 70.0
30" 700 | 70.0 | 700 | 700 | 700
36" i 645 | 700 | 700 | 700 | 700
40" 84 581 | 66,5 | 70.0 | 700 | 70.0
42" 553 | 63.3 | 69.8 | 700 | 70.0
48" 484 | 554 | 611 | 629 | 62.9
24" 700 | 70.0 | 700 | 700 | 70.0
30" 675 | 700 | 700 | 70.0 | 70.0
36" i 562 | 644 | 700 | 700 | 70.0
40" % 506 | 57.9 | 638 | 687 | 68.7
42" 482 | 552 | 60.8 | 654 | 65.4
48" 422 | 483 | 532 | 572 | 572
24" 700 | 70.0 | 700 | 70.0 | 70.0
30" 593 | 679 | 700 | 700 | 70.0
36" 96" 4904 | 566 | 623 | 67.0 | 671
40" 445 | 509 | 561 | 60.3 | 60.4
42" 424 | 485 | 534 | 575 | 575
45" 39.6 | 453 | 498 | 536 | 53.6

MULLION\M15—01AC )

FAX. (305) 262-6978

AL-FAROOQ CORPORATION

ENGINEERS & PRODUCT DEVELOPMENT

1235 S.W. 87 AVE
MIAMI, FLORIDA 33174

TEL. (305) 264-8100

|

BAYPORT, MN. 55003-1096
FAX (=)

100 FOURTH AVE. NORTH
® | 1eL. (800) 426-7691

snoerseN| ANDERSEN CORPORATION

[LAM»MJED VENEERED LUMBER MULLION SYSTEM]

|

)

by [descriplion

(revisions:
no| date

|

04-28-15

[=}
=
=
T
5
)
o
©

date:
chk. by:

S
drawing no.

M15—-01

) g‘shee’( 6 of 13




#10 X 2—-1/2" SCREWS
AT 5" FROM HEAD/SILL
AND 16" 0.C. MAX.

/'";"j'; /’//,,,/,’;?/’,"’,,:

i 6—-9/16" MULLIONJ

1— 4-9/16" MULLION

AWNING TO AWNING
HORIZONTAL JOIN

CASEMENT TO CASEMENT
VERTICAL JOIN

MULLION TYPE|GROUP NO.
4-9/16" 3
6-9/16" 7

#10 X 2—-1/2" SCREWS
AT 5" FROM HEAD/SILL
AND 16" 0.C. MAX.

6-9/16" MULLIONAl

4-39/16" MULLION

FLEXIFRAME TO FLEXIFRAME

VERTICAL OR HORIZONTAL JOIN

MULLION TYPE|GROUP NO.
4-9/16" 2
6-9/16" 5

#10 X 2-1/2” SCREWS
AT 5" FROM HEAD/SILL
AND 16” 0.C. MAX.

o . e

6-9/16" MULLIONJ

4—-9/16" MULLION

#10 X 2-1/2" SCREWS
AT 5" FROM HEAD/SILL
AND 16" 0.C. MAX.

#10 X 2—1/2" SCREWS
AT 5" FROM HEAD/SILL
AND 16" 0.C. MAX.

L

6-9/16" MULLIONJ

4—-9/16" MULLION

CASEMENT TO AWNING

VERTICAL OR HORIZONTAL JOIN

MULLION TYPE GROUP NO.

4-9/16"

3

6-9/16"

7

#10 X 2—1/2" SCREWS
AT 5" FROM HEAD/SILL
AND 16" 0.C. MAX.

%5

6-9/16" MULUON~I

L4—9/1 6" MULLION

CASEMENT TO CASEMENT AWNING TO AWNING
HORIZONTAL JOIN VERTICAL JOIN

MULLION TYPE|GROUP_NO.
4-9/16" 3
6-9/16" 7

#10 X 2-1/2" SCREWS
AT 5” FROM HEAD/SILL
AND 16" 0.C. MAX.

CASEMENT TO FLEXIFRAME

6—-9/16" MULLlONJ

4-9/16" MULLION

AWNING TO_FLEXIFRAME

MULLION TYPE|GROUP NO.
FLEXIFRAME TO CIRCLE TOP/QUARTER 4-9/16" 2
VERTICAL OR HORIZONTAL JOIN 6—9/16" 6

HORIZONTAL JOIN

VERTICAL JOIN

MULLION TYPE GROUP NO.

4-9/16" 2

6-9/16" 6

T

| SEE SHEET 9 FOR ‘I’ VALUES OF

VARIOUS GROUPS :

6—-9/16" MULL!ONJ

4-9/16” MULLION

AWNING TO FLEXIFRAME
HORIZONTAL JOIN

CASEMENT TO FLEXIFRAME
VERTICAL JOIN

MULLION TYPE[GROUP NO.
4-9/16" 2
6-9/16" 6

........

°a
nnnnnn

I |
f
C
—01AC)

|
|

MULLION\M15

FAX. (305) 262-6978

AL-FAROOQ CORPORATION
ENGINEERS & PRODUCT DEVELOPMENT
1235 S.W. 87 AVE

MIAMI, FLORIDA 33174

TEL. (305) 264-8100

|

FAX (-)

BAYPORT, MN. 55003-1096

100 FOURTH AVE. NORTH
TEL. (800) 426-7691

®

snoersen) ANDERSEN CORPORATION

LLAM!NATED VENEERED LUMBER MULLION SYSTEM

|

)

by [ description

(revisions:
(no] date

ote: 04-28-15 |
= 1. -" ]

B

)

e
g
¢

date:

o

drawing no.

M15-01

sheet 7 of 13

0115161 > = f 20 1Y)




a PN
| WV 2
h #10 X 2-1/2" SCREWS #10 X 2-1/2" SCREWS %Cf
) ‘ AT 5" FROM HEAD/SILL AT 5" FROM HEAD/SILL - Fm
6-9/16 MULLION—\\,{ AND 16" 0.C. MAX. AND 16" 0.C. MAX. o) =
| #10 X 2—1/2” SCREWS 4 S Z
AT 5" FROM HEAD/SILL Or 8|S
4-9/16" MULLION AND 16" 0.C. MAX. EZ ME
€z 93
e [+ % ﬁ
ey Eo <]
g Lo ¢
J i %
=
6-9/16" MULLION 6-9/16" MULL!ONJ 8 9 E
]
MULLION TYPE|GROUP_NO. MULLION TYPE|GROUP NO. ©Su 3 o
4-9/16" 3 4-9/16" MULLION 4-9/18" 3 4-9/16" MULLION 60crz< 3
6-9/16 7 6-9/16" 7 X ,\g 2
CIRCLE TOP TO AWNING CIRCLE TOP TO CASEMENT 1 (Dq?o @ |
MUAI:I-_IS(,)/NW 6T3(PE GROU;:’ NO. HORIZONTAL JOIN HORIZONTAL JOIN & §3, e |
6-9/16" 8 - umw g &
= O Mg g
CE R
#10 X 2—1/2" SCREWS _
AT 5" FROM HEAD/SILL G ——
AND 16" 0.C. MAX. ==
e
[%2]
> e ©
2 2gS
So&LT
Sz gz
400 TWDH WDW_TO 400 TWDH WDW [ x ey = Ou B o
VERTICAL JOIN | SEE SHEET 9 FOR ‘I’ VALUES OF VARIOUS GROUPS | J 510z _
i m . %
400 TWDH WDW TO 400 TWDH PICTURE WDW 6~-9/16" MULLION % LIZJ ,—'E % "To
VERTICAL JOIN MULLION TYPE|GROUP o0 0ns -9
-9/16" O Xox o
g—s%e" g 4-9/16" MULLION EWEo s
i) o % L
= .
CASMT PICTURE WDW. TO AWNING CASMT PICTURE WDW. TO CASEMENT & <Z( © E‘é E
VERTICAL JOIN HORIZONTAL JOIN o =
B ®
<
2w
= a
Y S =
NN #10 X 2—1/2" SCREWS —
6—9/16" MULLION 6—-9/16" MULLION i AT 5" FROM HEAD/SILL Ve 3
/ RN N / AN #10 X 2-1/2" SCREWS AND 16" 0.C. MAX.
#10 X 2-1/2" SCREWS \ AT 5" FROM HEAD/SILL
AT 5" FROM HEAD/SILL AND 16" O.C. MAX.
4-9/16" MULLION AND 16" 0.C. MAX. 4-9/16" MULLION
) ’a e C
’ o
)
=
-
o O
,,,,, 2]
| ;
6~9/16" MULLION N
MULLION TYPE|GROUP NO. =
4-9/16" 3 ., “
6—9/16" 5 4-9/16" MULLION g%
‘n|o
MULLION TYPE|GROUP NO. MULLION TYPE|GROUP NO. CASMT PICTURE WDW. TO AWNING CASMT PICTURE WDW. TO CASEMENT ’g 5
4-9/16" 1 1-9/16" ] HORIZONTAL JOIN VERTICAL JOIN e
- . . ¢ 5
6=9/16 8 6-9/16 9 WAL ()
on=-0
@ ” e f;
e
3= s
s B i 2
IR F:
UF o ls |5
FE——
drawing no
PSNL WDW _TO 400 TWDH PICTURE WDW PSNL WDW_TO PSNL WDW M1 5_01

VERTICAL JOIN

VERTICAL JOIN

sheet 8 of 13)




#10 X 2-1/2" SCREWS

AT 5" FROM HEAD/SILL
/AND 16" 0.C. MAX.

T

o s / o o -~ ~

[ 6-9/16" MULUONJ
L 4-9/16" MULLION

PSNL TO CIRCLE TOP—NL
HORIZONTAL JOIN
MULLION TYPE |GROUP NO.
4-9/16" 1
6-9/16" 8

#10 X 2—-1/2" SCREWS
AT 5" FROM HEAD/SILL
AND 16" 0.C. MAX.

6—9/16" MULLION

—4-9/16" MULLION

400 TW TO CIRCLE TOP-—NL
HORIZONTAL JOIN

MULLION TYPE|GROUP NO.
4-9/16" 1
6-9/16" 9

VALUES USED ALUMINUM  WOOD+MULL | WOOD+MULL TOTAL ‘T IN
GROUP COVER 4-9/18” 6-9/16” |TERMS OF WOOD

1 Ix INT4 0.0855 12.2451 - 12.7489
Sx INT3 0.0719 4.5182 -

2 Ix IN"4 0.5801 10.7178 - 15.1801
Sx INT3 0.3427 3.7804 -

3 Ix IN"4 0.5801 11.7200 - 16.1823
Sx INT3 0.3427 5.2952 -

4 Ix IN"4 0.0655 15.6790 - 16.1828
Sx IN"3 0.0719 8.0691 -

5 Ix IN"4 0.5801 - 25.1317 29.5940
Sx IN"3 0.3427 - 6.8663

6 Ix IN"4 0.5801 - 25.1317 29.5940
Sx IN"3 0.3427 = 7.8598

” Ix IN"4 0.0655 - 29.0902 29.5940
Sx INT3 0.0719 - 10.0284

8 Ix IN"4 0.0655 - 29.0902 99.5940
Sx IN"3 0.0719 - 10.7842

9 Ix INA4- 0.0655 - 29.0902 29.5940
Sx IN"3 0.0719 - 11.9135

NOTE: TO OBTAIN TOTAL COMBINED ‘I’ VALUES
EALUM = 1077
Ewoob = 1,300,000 PSI

#10 X 2-1/2" SCREWS
— AT 5” FROM HEAD/SILL
AND 16" O.C. MAX.
6—9/16" MULLION
'-4-9/16” MULLION
400 TW_TO TW TRANSOM
HORIZONTAL JOIN
MULLION TYPE GROUP NO.
4-9/16" 1
6-9/16" 6
SCYIOF .
@"n.{iLOR\D?:né R
S o}
\
FL #17720 4 ONAL By

/0115 1{2-13

m

0!:5
Ll
\‘_WMM"WLQ
z 2>

o
-

©o
<z 93
g 8l
Og 2
g 3

5 =
85 &

M
Ogum g
Qn.<gﬂ
OI5E 3|
mm;‘gf“t
L U>0 5
u.gw;o
5588 °

L d
CE R

|

TN
wn
> E ©
wn (o3}
C5z8
51954 °
S =Z0x
= | X [
O uww
=i >0
Faa] < .5
DIWE =4
8 &3k~
FWwosg
w0 o x
[
S Zo<
Sl — o
o= ”“
< o
Zl w
= a
S z
(AN,

™ ™
C
S
LS
Q]
C
I3}
w
o
o
>
o
ol
Ol
R2d ke
>
ovi[o
e J
Q,Ei—is i
N H
K ol
N L E
IS
o§>§§ ii
[ BT L EECO
RERIEN
IR
T | @ © G

S
drawing no.

M15-01

(sheet 9 of 13)




#10 X 2-1/2" SCREWS
AT 5" FROM HEAD/SILL
AND 16" 0.C. MAX.

6-9/16" MULLION—l

MULLION TYPE|GROUP NO.
4-9/16" 4
6-9/16" 7

L-4-9/16" MULLION

FLEXIFRAME /ARCH/SPRINGLINE TO FW _GLIDING DOOR

HORIZONTAL JOIN

#10 X 2-1/2" SCREWS

AT 5" FROM HEAD/SILL
NU 16" 0.C. MAX.
7 T
1]/
/
// // ] 6—9/16" MULLION
Lo |

S

HORIZONTAL JOIN

MULLION TYPE|GROUP_NO.
4-9/16" 4
6-9/16" 3

L-4-9/16" MULLION

FLEXIFRAME /ARCH/SPRINGLINE TO FW_GLIDING DOOR

#10 X 2—-1/2" SCREWS
AT 5" FROM HEAD/SILL
AND 16" 0.C. MAX.

6-9/16" MULLION

MULLION TYPE [GROUP NO.
4-9/16" 4
6-9/16" 8

—4-9/16" MULLION

PSCA PICTURE WDW TO FW_GLIDING DOOR

HORIZONTAL JOIN

#10 X 2-1/2" SCREWS
AT 5" FROM HEAD/SILL
AND 16" 0.C. MAX.

6-9/16" MULUON—I

MULLION TYPE GROUP NO.
4-9/16”" 3
6-9/16" 5

—4-9/16” MULLION

FLEXIFRAME /ARCH/SPRINGLINE TO FWH DOOR
HORIZONTAL JOIN

#10 X 2—1/2" SCREWS

AT 5" FROM HEAD/SILL
ND 16" 0.C. MAX.

////i / |

N -

1

f6—9/1 6" MULLION

MULLION TYPE|GROUP NO.
4-9/16" 3
6-9/16" 8

'—4-9/16" MULLION

HORIZONTAL JOIN

FLEXIFRAME /ARCH/SPRINGLINE TO FWH DOOR

#10 X 2-1/2" SCREWS
AT 5” FROM HEAD/SILL
AND 16” 0.C. MAX.

{-6—9/1 6" MULLION

MULLION TYPEIGROUP NO.
4-9/16" 3
6-9/16" 7

- 4-9/16” MULLION

PSCA PICTURE WDW TO FWH DOOR
HORIZONTAL. JOIN

tys !
E SEE SHEET 9 FOR 'T' VALUES OF VARIOUS GROUPS |

#10 X 2-1/2" SCREWS
AT 5" FROM HEAD/SILL
AND 16" 0.C. MAX.

6-9/16" MULUON1

MULLION TYPE|GROUP_NO.
4-9/16 3
6-9/16" 5

—4-9/16" MULLION

FLEXIFRAME /ARCH/SPRINGLINE TO FWO DOOR
HORIZONTAL JOIN

#10 X 2-1/2" SCREWS

AT 5” FROM HEAD/SlLL

wD 16" 0.C. MAX.
1
/ //Q
|

¥ / / "

/ 6—9/16" MULLION

// /] [ [ /

A A2

MULLION TYPE|GROUP_NO.
4-9/16 3
6—9/16" 8

L-4-9/16" MULLION

FLEXIFRAME /ARCH/SPRINGLINE TO _FWO DOOR
HORIZONTAL JOIN

#10 X 2-1/2" SCREWS
AT 5" FROM HEAD/SILL
AND 16" 0.C. MAX.

1-6—9/1 6" MULLION

MULLION TYPE[GROUP NO.
4-9/16" 3
6-9/16" 7

- 4-9/16” MULLION

PSCA PICTURE WDW TO FWO DOOR
HORIZONTAL JOIN

—01AC)

MULLION\M15-01AC

FAX. (305) 262-6978

AL-FAROOQ CORPORATION

ENGINEERS & PRODUCT DEVELOPMENT

1235 S.W. 87 AVE
MIAMI, FLORIDA 33174

TEL. (305) 264-8100

|

ANDERSEN CORPORATION

100 FOURTH AVE. NORTH

BAYPORT, MN. 55003-1096
FAX (-)

TEL. (800) 426-7691

®)

{LAMINATED VENEERED LUMBER MULLION SYSTEM

|

ANDERSEN]

)

by Tdescription

(revisions:
nol date

A

(sheet 100f 13

\ o T M T~




ADDL. BRACKET REQD.

FOR CONC./MASONRY INSTALLATIONS ONLY g

WITH (2) ANCHORS TYPE 'B’ -
IN OUTER 2 HOLES OF BRACKET

VERT. MULL
HEAD CONNECTION

HORIZ. MULL
JAMB CONNECTION

MULLION
MULLION

AND
COVER

ADDL. BRACKET REQD.

FOR CONC./MASONRY INSTALLATIONS ONLY
WITH (2) ANCHORS TYPE ‘B’

IN OUTER 2 HOLES OF BRACKET

VERT. MULL
SILL. CONNECTION

- - % §
N N
HEAD/SILL BRACKET w ’2%“@ ~-4LORIC M15—=01
(1) REQD. AT MULL END FOR WOOD & METAL STRUCTURES “ 2 s Y
(2) REQD. AT MULL END FOR CONC./MASONRY STRUCTURES FL #17720 R e sgqdoheet 1107 13)

\

A
u

b

LI

HEAD/SILL BRACKET
(1) REQD. AT MULL END FOR WOOD & METAL STRUCTURES
(2) REQD. AT MULL END FOR CONC./MASONRY STRUCTURES

#8 X 1" SCREWS
8 PER PLATE

TYPICAL ANCHORS
TYPE A & C (5) PER BRACKET

TYPICAL ANCHORS
TYPE 'B’ (2) PER BRACKET

TYPICAL ANCHORS
TYPE 'B’ (2) PER BRACKET

TYPICAL ANCHORS
TYPE A & C (5) PER BRACKET

#8 X 1" SCREWS
8 PER PLATE

CONNECTION DETAIL W/ BRACKET

4-9/16” MULLION
6—9/16” MULLION

@ ©/§750
@)

1.200‘@*

i 4.500 }

1.200

()

()

.078 —= |=—

3.500

-

HEAD/SILL BRACKET

14 GA. ZINC PLATED STEEL

meso%

TYPICAL ANCHORS: SEE ELEV. FOR SPACING
TYPE ‘A'= 1/4” DIA. ULTRACON BY 'ELCQ’ (Fu=177 KSI, Fy=155 KSI)

INTO 2BY WOOD BUCKS OR WOOD STRUCTURES
1=1/2" MIN. PENETRATION INTO WOOD

TYPE ‘B'-~ 1/4” DIA. ULTRACON BY 'ELCQ’ (Fu=177 KSI, Fy=155 KSI)

THRU 1BY BUCKS INTO CONC. OR MASONRY
1—1/4" MIN. EMBED INTO CONC. OR MASONRY

DIRECTLY INTO CONC. OR MASONRY
1—1/4" MIN. EMBED INTO CONC. OR MASONRY

TYPE 'C'— #12 SMS OR SELF DRILLING SCREWS (GRADE 2 CRS)

INTO METAL STRUCTURES

STEEL : 12 GA. MIN. (Fy = 36 KSI MIN.)
ALUMINUM : 1/8” THK. MIN. (6063—T5 MIN.)
(STEEL IN CONTACT WITH ALUMINUM TO BE PLATED OR PAINTED)

TYPICAL EDGE DISTANCE

INTO CONCRETE AND MASONRY = 2" MIN.
INTO WOOD STRUCTURE = 1" MIN.

INTO METAL STRUCTURE = 3/4" MIN.

ANCHORS CL TO CL DISTANCES

INTO CONCRETE AND MASONRY = 3" MIN.
INTO WOOD STRUCTURE = 3/4” MIN.
INTO METAL STRUCTURE = 3/4” MIN.

CONCRETE AT HEAD, SILL OR JAMBS f'c = 3000 PSI MIN.
C—90 HOLLOW/FILLED BLOCK AT JAMBS f'm = 2000 PSI MIN.

.
°
0
\

@)

\\\\\\\HHI/,I,

QIR0 AHg,

S B GENSL ) %
O WCENSg ™.,

c)

MULLION\M15—01AC

a

|

f
€

FAX. (305) 262-6978

AL-FAROOQ CORPORATION

ENGINEERS & PRODUCT DEVELOPMENT

1235 S.\W. 87 AVE
MIAMI, FLORIDA 33174

TEL. (305) 264-8100

|

ANDERSEN CORPORATION

100 FOURTH AVE. NORTH

BAYPORT, MN. 55003-1096
FAX (=)

TEL. (800) 426-7691

W

[LAMINATED VENEERED LUMBER MULLION SYSTEM}

ANDERSEN

)

by description

(revisions:
(no] date

—-28~15J
3
)

|

04
=1

Edate
[
(chk by

1/2"
r. by: HAMID

|

drawing no.




TYPE ‘A'-

TYPE 'D'-

18.000 UM\?Q;;
TYPICAL ANCHORS: SEE ELEV. FOR SPACING ?-?75 (2 mk B
4.825 (2)—— e |
4" DIA. ULTRACON BY 'ELCO’ (Fu=177 KSI, Fy=155 KSI) 3.825 (4) a] {w.znz o
INTO 2BY WOOD BUCKS OR WOOD STRUCTURES z @ 2
1—1/2" MIN. PENETRATION INTO WOOD o o o o o o o o O |oss O e
O O !.- wi 8 i
TYPE ‘B'— 1/4” DIA. ULTRACON BY 'ELCO’ (Fu=177 KSI, Fy=155 KSI) 2375 g 2 % 2
THRU 1BY BUCKS INTO CONC. OR MASONRY 5550 g% g
1—1/4”" MIN. EMBED INTO CONC. OR MASONRY oz X
) o) o) o) e 0 ga &
DIRECTLY INTO CONC. OR MASONRY —t llegg <
1—1/4" MIN. EMBED INTO CONC. OR MASONRY 3.450 (4) 02 §
L =.375 (4) GUSSET PLATE o0 wg o
#8 SMS OR SELF DRILLING SCREWS (GRADE 2 CRS) 7-275 (4) 16 GA. GALV. GBO STEEL 0fz«$
INTO METAL STRUCTURES o< Eg it
6.375 [ FLrc 8
STEEL : 12 GA. MIN. (Fy = 36 KSI MIN.) U LENGoH As Rean. | S iR
ALUMINUM : 1/8” THK. MIN. (6063—T5 MIN.) ‘ ez 8
(STEEL IN CONTACT WITH ALUMINUM TO BE PLATED OR PAINTED) e 5 6 0 0 o h582°
. o) 0 0 CENEE
TYPICAL EDGE_DISTANCE 4-9/16” MULLION 1500 | O )
— » [
INTO CONCRETE AND MASONRY = 1—1/4" MIN. 6-9,/16" MULLION J 0°0°%6 %% A
INTO WOOD STRUCTURE = 1” MIN. CONNECTION DETAIL W/ GUSSET PLATE \ . %
INTO METAL STRUCTURE = 3/4” MIN. ANCHOR CLIP ‘8" SR I | E_8
: I o
ANCHORS CL TO CL DISTANC 304 ST. STEEL 51677
INTO CONCRETE AND MASONRY = 3" MIN. 3223 %
INTO WOOD STRUCTURE = 3/4” MIN. 3.000 = % S E
INTO METAL STRUCTURE = 3/4” MIN. s Ya
=0
fas) -3
CONCRETE AT HEAD, SILL OR JAMBS f'c = 3000 PSI MIN. o © © o =lzxg®
C—90 HOLLOW/FILLED BLOCK AT JAMBS f'm = 2000 PSI| MIN. 1500 | O E —DJ L(;)-' X . &
o ox o~
ANCHOR CLIPS ‘B’ ANCHOR CLIPS l L © © © o é g - E E%
/| o et soe" wason . |2 2250
OR - o F
TYPICAL ANCHORS OF MULLION 6-5/16" MULLION L 87 | o =
TYPE A & B (1) PER CLIP 48 X 1" SMs opad ~. ! oo = ®
TTPE D (2) PER CLP GUSSET PLATE - l 3" MIN. (14) PER PLATE ANCHOR CLIP ‘A 2 |:
N i 304 ST. STEEL Iz
ANCHOR CLIPS ‘A F::.‘ =
D
é O O O O O O O O O O O O (Y p
O O O O O O O O
O \D
® O ©C le o © 0o|0° /@ ® S
&
1o}
. O o O 0 /O O L E
&5
cle
Oilo
oo
>
28
— =
J " o ;J 1 Eé ol
WINDOW/DOOR FRAME #8 X 17 SMS DRI
(2) PER CLIP 3 1 S|E .
S8 )55

GUSSET PLATE FASTENED TO HEAD OR SILL OF TWO ADJACENT DOOR/WINDOW FRAMES.
ANCHOR CLIPS ATTACHED TO GUSSET PLATES AS SHOWN ABOVE.
SEE SHEET 12.1 FOR ILLUSTRATION




#8 X 1" SMS
(2) PER CLIP

‘A" OR ‘B’

(2) AT EACH SDIE

ANCHOR CLIPS

OF MULLION

#8 X 1" SMs
(14) PER PLATE

I

WINDOW/DOOR FRAME

(ovio-sLA\NOmINN — ) * (=) xv4  169,-92 (008) ML| W h Aq .vi s — @
8269-29€ (SOE) "XvA 00T8-+9Z (50€) 1L 9601 —500SS ‘NN ‘LM¥OdAVE m FE———— e O 1D
o ¥LTEE Va0 INVIN | HIMON “JAV HIYN04 001 M h iiiii m@.ﬁﬁm@ o L%
.& 3AV L8 'M'S GETT | - - o c N
INJINOT3AZA 10NdoHd % suzaniona | | NOLLYHOdYOO NISHYIANY M TonasE A sEeTou MIHIKWHMWWL : — %
& | NOLLYHOJHO0D DOOUV-TV | [WaLsks NOMINN H38NNT Q33NN QLN | ¢ Suoisine) | S50 e B = | £
F
(<]
1
P
g
+
$
P
b
’
)
B
i
o
AV}
o~
o~
|
FH=
—
Py
a
ed
(&)
xa
S
Ry
-
om —~ m
ERE) 5
f2<0o o
S b
a oo %]
[y g
(&)

OR

4-9/16" MULLION
6—9/16” MULLION




(Ov10-GLA\NOITINW ) (=) xvd  169£-92¥ (008) 3L| A ﬁ #q ‘V_@ s — |12
{ 8269-29Z (S0L) 'Xvd O0T8-+9Z (S0€) 3L 9601 —%00GS "NW ‘1¥OdAvVE mEEEm————— ) C O W
- PLTEE VAINOTH ‘TNVIN HIMON “3AV HLY¥NO04 00l | e ) o | lm
IAV L8 'M'S GETT | || |~

.h INAWJOT3AIA 1oNaod % suaaniona | || NOLLYHOJYOD NISHIANY vesuzany gty
m Pe) . uoiduosap |Aq | a1pp jou I s e
NOILYVYOd4dUH 0D O0O0HV-TV Tzupw»m NOITINW d38ANT Q3Y33INA BEZ_E& ( :SUOISIAGI) o %

-

T
|
]
_
N
1
|
_
N\ L
4 o
| M
_
|
u o
_ AV
| O~
| O~
| _ —
-]
5 B
" e i
o ﬂ 1
<2 O -
i I\
M _
T
]

4.078

3 PER SIDE

#8 X 3/4” SCREWS

VERT. MULLION CONNECTION TO HORIZONTAL MULLION




